
The Seasons 

 

We have seasons because the _________________ orbits the 

 

______________.  It takes the Earth __________________ days (or 

 

one year) to orbit the Sun.  Because the Earth is tilted 

 

on its axis,  at all times of the year one _______________________ 

 

is always tilted either ________________________ or 

 

away from the Sun.  In the hemisphere that is tilted 

 

towards the Sun, it is _________________ because the Sun’s rays 

 

hit that hemisphere more strongly.  In the hemisphere that is tilted 

 

away from the Sun it is Winter because the Sun’s 

 

rays take longer to reach it and so they lose some of their strength. 
 

That’s why it’s __________________ in Winter! 
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